

Kansas Register

Vol. 39, No. 18

April 30, 2020

Pages 559-584



In this issue ...

Page

Rates

Pooled Money Investment Board
 Notice of investment rates561

Notices

Kansas Housing Resources Corporation
 Notice of amendment to the Citizen Participation Plan.....561

Kansas Department of Commerce
 Notice of amendment to the 2019 CDBG Action Plan.....561

Kansas Department of Administration – Office of Facilities and Property Management
 Notice of requested architectural services.....561

Kansas Department of Administration – Office of Procurement and Contracts
 Notice to bidders for state purchases.....562

City of Lenexa, Kansas
 Notice to bidders for Lenexa Bike Share Program bike racks562
 Notice to bidders for Lenexa Bike Share Program bike563

Kansas Department of Transportation
 Notice to contractors.....563

Wichita State University
 Notice of intent to lease land and/or building space565
 Notices of intent to lease real property565

Kansas Department of Health and Environment
 Notice concerning water pollution control permits and applications566

Kansas Governor’s Grants Program
 Notice of available grant funding for the Federal Coronavirus Emergency
 Supplemental Funding Program568
 Request for comments on the Federal Edward Byrne Memorial Justice
 Grant Program.....568

Kansas Public Employees Retirement System
 Request for proposals for executive search firm568

Opinions

Governmental Ethics Commission
 Opinion 2020-02568

Bonds

City of Atchison, Kansas
 Notice of intent to seek private placement general obligation bonds569

Regulations

Kansas State Board of Nursing
 Notice of hearing on proposed administrative regulations (Amended)569

Kansas State Board of Healing Arts
 Permanent administrative regulations.....570

Kansas Lottery
 Temporary administrative regulations570

Index to administrative regulations581

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas.**

POSTMASTER: Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 SW 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2020. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF Format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs_kansas_register.asp.

Register Office:
 1st Floor, Memorial Hall
 785-368-8095
 Fax 785-296-8577
kansasregister@ks.gov



Published by
 Scott Schwab
 Secretary of State
 1st Floor, Memorial Hall
 120 SW 10th Ave.
 Topeka, KS 66612-1594
 785-296-4564
<https://sos.kansas.gov>

Cover Artwork: Flint Hills, Geary County
 Photo by Todd Caywood

State of Kansas

Pooled Money Investment Board**Notice of Investment Rates**

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective 4-27-20 through 5-3-20

Term	Rate
1-89 days	0.05%
3 months	0.03%
6 months	0.07%
12 months	0.10%
18 months	0.19%
2 years	0.21%

Scott Miller
Director of Investments

Doc. No. 048090

State of Kansas

Housing Resources Corporation**Notice of Amendment**

The Kansas Housing Resources Corporation will publish a preliminary draft of the Citizen Participation Plan, a planning tool for the Kansas Consolidated Plan. The Citizen Participation Plan will be available for public review and comment April 30, 2020 through May 6, 2020. The Citizen Participation Plan will be available online at www.kshousingcorp.org beginning April 30, 2020. Limited hard copies of this plan are available through the Kansas Housing Resources Corporation, 611 S. Kansas Ave., Suite 300, Topeka, KS 66603, phone 785-217-2001, fax 785-232-8073, email creimler@kshousingcorp.org.

Ryan Vincent
Executive Director

Doc. No. 048100

State of Kansas

Department of Commerce**Notice of Amendment**

The State of Kansas will receive \$9,029,815 under the Coronavirus Aid, Relief, and Economic Security (CARES) Act. The program will be titled CDBG-CV. The State of Kansas is submitting an amendment to its 2019 CDBG Action Plan to implement this program.

The CARES Act funds will be available for non-entitlement cities and counties. Awards will be made for issues triggered by the COVID-19 virus where no other funds are available. Proposed activities will be grants to micro-businesses as well as regular businesses up to 50 employees, personal protective equipment and meal programs.

Proposed procedural changes with CARES Act funds include, the processing of the grantee's Grant Agreements, Request for Release of Funds and Certification (HUD-7015.15), and Grant Closeout agreements. Based on HUD guidance from April 13, 2020, the grantee can use electron-

ic signatures, scans, or fax. These amendments would only be applied to awarded CARES Act funds.

The public hearing for comments will be at 10:00 a.m. May 6, 2020, by conference call. The conference call number is 866-620-7326 Conference code 7675921124.

Anyone needing special accommodations should contact the Kansas Department of Commerce at least five business days in advance of the hearing at 785-296-3004, fax 785-296-3490 or TTY 711.

David Toland
Secretary

Doc. No. 048097

State of Kansas

**Department of Administration
Office of Facilities and Property Management****Notice of Requested Architectural Services**

Notice is hereby given of the commencement of the selection process for architectural services to construct a new building to house the Convergence Sciences 2 Facility for Digital Transformation at Wichita State University. The scope of work for the project is as follows:

- Architectural services to include design development, construction documents and construction administration for a new Convergence Sciences 2 Facility for Digital Transformation at Wichita State University. The building will house multiple client specific areas composed of a conference room / work area and will provide clients both in the private and public sector the ability to perform full scale testing. Another goal of this facility would be to provide more research and development work into testing methodologies, procedures, and processes with new technology to provide more efficient test protocols to clients. This new facility will enable the region and Kansas to expand its testing capabilities to support clients within the interconnected economic sectors. The facility would be a three-story building with a building footprint of approximately 26,500 square feet. The subtotal square footage for the programmed spaces would be approximately 49,000 square feet. Future shelled space would also be included on the third floor of this building to accommodate any changes in research or functions that University would need to address. The total square footage for both the programmed and shelled space is approximately 56,000 square feet.

The estimated construction cost is \$18,200,000.

An architectural/engineering program is available at <http://admin.ks.gov/offices/ofpm/dcc/arch-eng-programs>. For more information, contact Emily Patterson at 316-978-3030 or emily.patterson@wichita.edu.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at <http://admin.ks.gov/offices/ofpm/dcc/f-and-d>. State of Kansas Professional Qualifications DCC Form 050 for
(continued)

each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation, and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 MB and follow the current State Building Advisory Commission guidelines which can be found in Part B—Chapter 2 of the Building Design and Construction Manual at <http://www.admin.ks.gov/offices/ofpm/dcc/bdcm>. Proposals should be sent on a flash drive along with a transmittal to Randy Riveland, Office of Facilities and Property Management, 700 SW Harrison St., Suite 1200, Topeka, KS 66603. Proposals should be sent via email to professional.qualifications@ks.gov. Paper copies of the proposals are no longer required. It is the proposer's responsibility to ensure proposals are received by the closing date and time. Delays in mail delivery or any other means of transmittal, including couriers or agents of the issuing entity shall not excuse late proposal submissions. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions, call 785-296-0749. The PDF proposal submissions shall be delivered to the attention of Randy Riveland by 2:00 p.m. on or before May 15, 2020.

The State of Kansas, as a matter of public policy, encourages anyone doing business with the State of Kansas to take steps to discourage human trafficking. If prospective bidders/vendors/contractors have any policies or participate in any initiatives that discourage human trafficking, the prospective bidder/vendor/contractor is encouraged to submit same as part of their bid response.

Frank Burnam, Director

Office of Facilities and Property Management

Doc. No. 048096

State of Kansas

Department of Administration Office of Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the Director of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376:

05/08/2020	EVT0007373	Water Softener Replacement – Larned
05/12/2020	EVT0007387	Boat Ramp – Tuttle Creek State Park
05/13/2020	EVT0007368	Underground Storage Tank Operator Training
05/19/2020	EVT0007393	Agricultural Services – Glen Elder State Park
05/19/2020	EVT0007394	1¼ inch Washed Rock
05/20/2020	EVT0007389	Tractor Rental
05/20/2020	EVT0007391	Excavator
05/21/2020	EVT0007386	Special Education Complaint Investigative Services
05/21/2020	EVT0007392	Point Blank Ballistic Vest
05/21/2020	EVT0007395	Online Boater Education Certification Manager
05/22/2020	EVT0007385	Environmental Professional Services

05/26/2020	EVT0007365	¾ Ton Truck
05/27/2020	EVT0007309	Promotional Items
05/27/2020	EVT0007390	Recycling Education and Outreach

The above referenced bid documents can be downloaded at the following website:

<http://admin.ks.gov/offices/procurement-and-contracts/bid-solicitations>

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

<http://admin.ks.gov/offices/procurement-and-contracts/additional-files-for-bid-solicitations>

05/19/2020	A-014026	Administration, Vehicle Storage and Committal Shelter Reroof; Kansas Veterans' Cemetery Buildings
05/21/2020	A-013890	KDOL; Eastman Building Remodel Ph 1
05/21/2020	A-014008	Adjutant General's; Regional Training Site Maintenance (RSMT) Electrical Upgrades

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or <http://admin.ks.gov/offices/ofpm/dcc>.

Richard Beattie, Director

Office of Procurement and Contracts

Doc. No. 048101

(Published in the Kansas Register April 30, 2020.)

City of Lenexa, Kansas

Notice to Bidders

Sealed bids for Lenexa Bike Share Program (46N-0695-01-CMQ-N069(501)) – Bike Racks will be received by the City of Lenexa, Kansas at the office of the City Clerk, Lenexa City Hall, 17101 W. 87th St. Pkwy., Lenexa, KS 66219 until 11:00 a.m. (CST) June 2nd, 2020, at which time bids will be publicly opened and read aloud at the Lenexa City Hall. Any bid received after the designated closing time will be returned to bidder unopened.

All bids shall be submitted in sealed envelopes addressed to the City of Lenexa, Kansas, Attn: City Clerk, and marked "Bid for: Lenexa Bike Share Program – Bike Racks 46N-0695-01-CMQ-N069(501)." Copies of the specifications, bidding documents and other contract documents are on file at the office of Drexel Technologies, Inc., 10840 W. 86th St. Lenexa, KS 66214, or <http://planroom.drexeltech.com/>.

Contractors should read and be fully familiar with all contract documents including addenda before submitting a bid. In submitting a bid, the bidder warrants that he/she has read the contract documents and is fully familiar therewith and has included in the bid a sum to cover the cost of all items of the work including delivery of the goods or equipment. Delivery shall be as indicated in the instructions to bidders.

No oral, telegraphic, facsimile, or telephonic bids or bid alterations or corrections will be considered.

The best and lowest responsible bid, as determined by the City of Lenexa, Kansas, shall execute an agreement on a form to be provided by the city. In the event the low bidder is unable to execute the agreement, for whatever reason, within the time provided in the Notice of Award, the city may annul the Notice of Award and the bid deposit may be forfeited. In addition, the city may exercise its legal prerogatives, including, but not limited to, enforcement of its rights as to specific performance.

The city reserves the right to accept or reject any and all bids and to waive any technicalities or irregularities therein. Bids may be modified or withdrawn by written request of the bidder if such requests are received in the office of the City Clerk, prior to the time and date for bid opening. No bidder may withdraw a bid for a period of thirty (30) days after the date set for bid opening.

All bidders agree that rejection shall create no liability on the part of the city because of such rejection, and the filing of any bid in response to this notice shall constitute an agreement of the bidder to the conditions herein.

Jennifer Martin
City Clerk

Doc. No. 048102

(Published in the Kansas Register April 30, 2020.)

City of Lenexa, Kansas

Notice to Bidders

Sealed bids for Lenexa Bike Share Program (46N-0695-01-CMQ-N069(501)) – Bikes will be received by the City of Lenexa, Kansas at the office of the City Clerk, Lenexa City Hall, 17101 W. 87th St. Pkwy., Lenexa, KS 66219 until 11:00 a.m. (CST) June 2nd, 2020, at which time bids will be publicly opened and read aloud at the Lenexa City Hall. Any bid received after the designated closing time will be returned to bidder unopened.

All bids shall be submitted in sealed envelopes addressed to the City of Lenexa, Kansas, Attn: City Clerk, and marked "Bid for: Lenexa Bike Share Program–Bikes 46N-0695-01-CMQ-N069(501)." Copies of the specifications, bidding documents, and other contract documents are on file at the office of Drexel Technologies, Inc., 10840 W. 86th St., Lenexa, KS 66214, or <http://planroom.drexeltech.com/>.

Contractors should read and be fully familiar with all contract documents including addenda before submitting a bid. In submitting a bid, the bidder warrants that he/she has read the contract documents and is fully familiar therewith and has included in the bid a sum to cover the cost of all items of the work including delivery of the goods or equipment. Delivery shall be as indicated in the instructions to bidders.

No oral, telegraphic, facsimile, or telephonic bids or bid alterations or corrections will be considered.

The best and lowest responsible bid, as determined by the City of Lenexa, Kansas, shall execute an agreement on a form to be provided by the city. In the event the low bidder is unable to execute the agreement, for whatever reason, within the time provided in the Notice of Award, the city may annul the Notice of Award and the bid deposit may be forfeited. In addition, the city may exercise

its legal prerogatives, including, but not limited to, enforcement of its rights as to specific performance.

The city reserves the right to accept or reject any and all bids and to waive any technicalities or irregularities therein. Bids may be modified or withdrawn by written request of the bidder if such requests are received in the office of the City Clerk, prior to the time and date for bid opening. No bidder may withdraw a bid for a period of thirty (30) days after the date set for bid opening.

All bidders agree that rejection shall create no liability on the part of the city because of such rejection, and the filing of any bid in response to this notice shall constitute an agreement of the bidder to the conditions herein.

Jennifer Martin
City Clerk

Doc. No. 048103

State of Kansas

Department of Transportation

Notice to Contractors

Electronic copies of the letting proposals and plans are available on the Kansas Department of Transportation (KDOT) website at <https://kdotapp.ksdot.org/Proposal/Proposal.aspx>. The website will allow the contractor to request approval from KDOT to bid as a prime contractor and be included on the "Bid Holders List," or to be included on the "Non-Bid Holders List" as a subcontractor/supplier. KDOT's approval is required to bid as a prime contractor. To bid as a prime contractor, KDOT needs to be notified of the intent to bid no later than the close of business on the Monday preceding the scheduled letting date. Failure to obtain prior approval to bid as a prime contractor on any projects listed below will be reason to reject your bid. The Secretary reserves the right to reject bids that do not comply with all requirements for preparing a bidding proposal as specified in the 2015 edition of the Kansas Department of Transportation *Standard Specifications for State Road and Bridge Construction*.

KDOT will only accept electronic internet proposals using the Bid Express website at <http://www.bidx.com> until 1:00 p.m. (CST) May 20, 2020. KDOT will open and read these proposals at the Eisenhower State Office Building, 700 SW Harrison, Topeka, Kansas, at 1:30 p.m. (CST) May 20, 2020. An audio broadcast of the bid letting is available at <http://www.ksdot.org/burconsmain/audio.asp>.

Each bidder shall certify that such person, firm, association, or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with the submitted bid. This certification shall be in the form of a required contract provision provided by the state to each prospective bidder. Failure to complete the required contract provision and certify the completeness of the preceding statement when electronically signing the proposal will make the bid nonresponsive and not eligible for award consideration.

(continued)

District One – Northeast

Douglas – 23 TE-0472-01 – Elm Street, from the Midland Railroad crossing to 8th Street in Baldwin, pedestrian and bicycle paths, 0.5 mile. (Federal Funds)

Johnson – 46 N-0700-01 – Safe Routes to School Phase 2- Lamar Avenue, from Shawnee Mission Parkway to Foxridge Drive in Mission, pedestrian and bicycle paths, 2.0 miles. (Federal Funds)

Lyon – 50-56 KA-2364-01 – U.S. 50, from approximately 4.5 miles east of the Lyon/Chase county line (near Road E5), east to the 2-lane/4-lane transition, grade, bridge and surfacing, 1.1 miles. (Federal Funds)

District Two – North Central

Ellsworth – 156-27 KA-5658-01 – K-156, from the K-140/K-156 junction northeast to the I-70/K-156 junction, crack repair, 10.7 miles. (State Funds)

Jewell – 45 C-4934-01 – Major collector roads south of U.S. 36 and west of K-14, signing, 100.0 miles. (Federal Funds)

Jewell – 14-45 KA-5631-01 – K-14, from the east K-14/U.S. 36 junction north to the Nebraska/Kansas state line, crack repair, 15.2 miles. (State Funds)

Republic – 36-79 KA-5636-01 – U.S.36, from the Jewell/Republic county line east to approximately 1,859 feet east of the U.S. 36/U.S. 81 junction, crack repair, 16.0 miles. (State Funds)

Saline – 70-85 KA-5664-01 – I-70, from approximately 8 miles east of the Lincoln/Saline county line east approximately 6.7 miles to the Portland Cement Concrete Pavement (PCCP) west of I-135, milling and overlay, 6.7 miles. (State Funds)

Statewide – 106 KA-5638-01 – K-128, from the U.S. 24/K-128 junction north to the Mitchell/Jewell county line, from the Mitchell/Jewell county line north to the west U.S. 36/K-128 junction, and from the east U.S. 36/K-128 junction north to the Kansas/Nebraska state line; K-228, from the K-128/K-228 junction east to the Ionia city limits, crack repair, 35.3 miles. (State Funds)

Statewide – 28-106 KA-5642-01 – K-28, from the K-28/K-148 junction east to the Cloud/Jewell county line and from the Cloud/Jewell county line east to the K-9/K-28 junction, crack repair, 29.0 miles. (State Funds)

Statewide – 106 KA-5653-01 – K-209, from North Western Avenue east to the Dickinson/Morris county line and from the Morris/Dickinson county line east to the U.S. 77/K-209 junction (entire route); U.S. 77, from the Morris/Geary county line north to approximately 1 mile south of the U.S. 77/I-70 junction; and K-157, from the Dickinson/Geary county line northeast to the U.S. 77/K-157 junction (entire route), crack repair, 14.5 miles. (State Funds)

Statewide – 81-106 KA-5659-01 – U.S. 81, from the Ottawa/Cloud county line north to the south city limits of Concordia and from approximately 1.5 miles south of RS 334 north to the Kansas/Nebraska state line, rumble strip installation, 23.7 miles. (State Funds)

District Three – Northwest

Decatur – 83-20 KA-5662-01 – U.S. 83, from 9.01 miles north of the Decatur/Sheridan county line north approximately 8 miles to the start of the Portland Cement Con-

crete Pavement (PCCP), milling and overlay, 8.0 miles. (State Funds)

Decatur – 36-20 KA-5663-01 – U.S. 36, from the Decatur/Rawlins county line east to the U.S. 36/U.S. 83 junction, recycle and overlay, 11.0 miles. (State Funds)

Gove – 70-32 KA-0726-02 – I-70, at Exit 95 (K-23 junction) and at Exit 99 (K-211 junction), grade, bridge and surfacing. (Federal Funds)

Statewide – 106 KA-5669-01 – Multiple locations in District 3 in Smith, Rooks, Graham, Norton, Gove, Rawlins, Thomas, Logan, and Sherman counties, milling. (State Funds)

District Four – Southeast

Franklin – 35-30 KA-5559-01 – I-35, beginning 11.08 miles north of the Osage/Franklin county line north 12.5 miles to approximately 8 miles north of the south U.S. 59/I-35 junction, overlay, 12.5 miles. (Federal Funds)

District Five – South Central

Barton – 96-5 KA-5646-01 – K-96, from the Rush/Barton county line east to the north city limits of Great Bend, sealing, 13.6 miles. (State Funds)

Cowley – 18 KA-5633-01 – K-15, from the K-15/U.S. 77 junction west to the east city limits of Udall and U.S. 77, from the K-15/U.S. 77 junction north to the Butler/Cowley county line, crack repair, 11.8 miles. (State Funds)

Harvey – 135-40 KA-5558-01 – I-135, from the Sedgwick/Harvey county line north to approximately 528 feet north of East Broadway Street in Newton, surfacing, 10.6 miles. (Federal Funds)

Pawnee – 73 KA-5650-01 – U.S. 183, from the U.S. 183/U.S. 56 junction north to the U.S. 183/U.S. 156 junction and U.S. 56, from the east city limits of Larned northeast to the Pawnee/Barton county line, crack repair, 19.6 miles. (State Funds)

Rush – 96-83 KA-5649-01 – K-96, from the Rush/Ness county line east to approximately 686 feet east of the U.S. 83/K-96 junction, crack repair, 15.3 miles. (State Funds)

Sedgwick – 87 C-4950-01 – Bridge over Cowskin Creek located approximately 528 feet north of 119th Street South on Hydraulic Avenue, bridge replacement, 0.1 mile. (Federal Funds)

Stafford – 50-93 KA-5645-01 – U.S. 50, from the U.S. 50/U.S. 281 junction east to the Stafford/Reno county line, crack repair, 15.0 miles. (State Funds)

Statewide – 160-106 KA-5665-01 – U.S. 160, from the Harper/Sumner county line east to the west city limits of Wellington, from the east end of the edge of wearing surface of the Arkansas River Bridge #72 east to the Cowley/Sumner county line, from the Cowley/Sumner county line east to the west city limits of Winfield and from the east city limits of Winfield east to the K-15/U.S. 160 junction, sealing, 39.6 miles. (State Funds)

District Six – Southwest

Finney – 156-28 KA-4765-01 – K-156, from approximately 130 feet east of 3rd/4th Street east to approximately 300 feet west of Belmont Place in Garden City, pavement reconstruction, 0.2 mile. (Federal Funds)

Ford – 50-29 KA-5150-01 – U.S. 50 and Gary Avenue in Dodge City, intersection improvement, 0.3 mile. (Federal Funds)

Greeley – 27-36 KA-4769-01 – K-27, from Harper Street to just north of Taylor Street in Tribune, pavement reconstruction, 0.3 mile. (Federal Funds)

Seward – 83-88 KA-5535-01 – U.S. 83, bridge #008 located approximately a half mile north of the U.S. 54/U.S. 83 junction, bridge repair. (Federal Funds)

Julie Lorenz
Secretary

Doc. No. 048082

State of Kansas

Wichita State University

Notice of Intent to Lease Land and/or Building Space

Public notice is hereby given that Wichita State University (WSU) intends to lease available land and building space. The university will consider leasing such property and/or space to those whose presence on campus would advance the university’s applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good, or otherwise provide supporting services and amenities to the campus community (such as restaurants, retail establishments, financial institutions, etc.). Because tenant use must be a good fit with the university’s educational mission and available space, please be prepared to provide the following information: (1) name; (2) square footage of space needs and desired lease term and location; (3) equipment, design, or other special needs; (4) description of anticipated use; and (5) the anticipated benefits to the university, its students, and the WSU community (e.g. applied learning, joint research, faculty start-up, etc.). The university will consider serious offers and inquiries from any financially qualified individual, group, organization, or company. If interested, please contact Vice President for Research & Technology Transfer, Dr. John Tomblin, john.tomblin@wichita.edu or Property Manager Crystal Stegeman, crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

Crystal Stegeman
University Property Manager
Office of the Vice President for
Administration and Finance
Wichita State University

Doc. No. 047620

State of Kansas

Wichita State University

Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU) is interested in entering into a long-term ground lease, subject to all required state approvals, for approximately 1.4 acres of property located at 1741 and 1755 N. Hillside. The university is interested in

leasing such property to any individual, organization, or entity whose presence on campus would advance the university’s applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good and providing retail, restaurant, and service centers that would be desirable and beneficial to the international student community. The university intends to lease this property for any period of time up to 65 years, but extended terms and renewal options would be considered. Interested tenants must be willing to provide the university an option to lease back improved office/classroom/lab space up to 11,000 square feet. Interested tenants must be a good fit with the university’s educational mission and identify anticipated benefits to the university, its students, and the WSU community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: financial stability and strength, proposal terms, demonstrated benefit to WSU and the community, design concepts, and proposed use. Rental rate may be negotiated based on square foot of leased ground or leasable square foot of the building. The university will consider serious offers and inquiries with detailed proposal terms from any financially qualified individual, group, organization, or company and such offers will be considered until a selection is made or this notice is withdrawn. If interested, please contact University Property Manager Crystal Stegeman at crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

Crystal Stegeman
University Property Manager
Office of the Vice President for
Finance and Administration
Wichita State University

Doc. No. 047955

State of Kansas

Wichita State University

Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU) intends to directly lease, and indirectly sublease through its affiliate corporation Wichita State Innovation Alliance, Inc., subject to all required state approvals, for the private development of one or more partnership buildings. This private development shall be located west of Oliver, between 17th and 18th Streets, on the Wichita State University main campus. The university is interested in leasing such ground to any individual, organization, or entity whose presence on campus would advance the university’s applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good, and specifically an emphasis on supporting and growing advanced laboratories for research, testing, and innovation in data infrastructure/storage, video

(continued)

surveillance storage, IOT, security, analytics, visualization/modeling, and machine learning/AI. The university intends to lease such ground for any period of time up to sixty-five years, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with the university's educational mission and identify anticipated benefits to the university, its students, and the WSU community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU, design concepts, financial stability, and proposed use. Rental rate shall be assessed per leased or leasable square foot of the building but is negotiable based on term of lease and benefit to the university. The university will consider serious offers and inquiries with detailed proposal terms from any financially qualified individual, group, organization, or company and such offers will be considered until a selection is made or this notice is withdrawn. If interested, please contact Associate Vice President for Industry Engagement and Applied Learning, Tonya Witherspoon at tonya.witherspoon@wichita.edu or University Property Manager Crystal Stegeman at crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

Crystal Stegeman
University Property Manager
Office of the Vice President for
Finance and Administration
Wichita State University

Doc. No. 047956

State of Kansas

Department of Health and Environment

Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-20-082/086

Pending Permits for Confined Feeding Facilities

Name and Address of Applicant	Legal Description	Receiving Water
Kerry and Roy Ferguson 2051 120 Rd. Kensington, KS 66951	SW/4 of Section 30 T02S, R15W Smith County	Solomon River Basin

Kansas Permit No. A-SOSM-B019

This is a renewal permit for an existing facility with a maximum capacity of 800 head (800 animal units) of cattle more than 700 pounds. There has been no change in the permitted animal units.

Name and Address of Applicant	Legal Description	Receiving Water
Heritage Cattle, Inc. 3725 W. Road E Garden City, KS 67846	SW/4 of Section 9 T26S, R33W Finney County	Upper Arkansas River Basin

Kansas Permit No. A-UAFI-C023
Federal Permit No. KS0094285

This is a renewal permit for an existing facility for 2,660 head (2,660 animal units) of cattle weighing greater than 700 pounds. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Steve Pechanec 1832 CR 320 Timken, KS 67575	NW/4 of Section 19 T18S, R16W Rush County	Upper Arkansas River Basin

Kansas Permit No. A-UARH-B014

This is a renewal permit for an existing facility with a maximum capacity of 150 head (150 animal units) of cattle more than 700 pounds and 200 head (100 animal units) of cattle 700 pounds or less, for a total of 250 animal units. There has been no change in the permitted animal units from the previous permit.

Name and Address of Applicant	Legal Description	Receiving Water
Fanshier Pork – Sharp Site Randy Fanshier 2008 NW 10th Ave. Great Bend, KS 67530	SW/4 of Section 35 T20S, R13W Barton County	Upper Arkansas River Basin

Kansas Permit No. A-UABT-H001
Federal Permit No. KS0092096

An update to the Nutrient Management Plan (NMP) was received for this existing facility currently permitted for 4,000 head (1,600 animal units) of swine weighing greater than 55 pounds. The facility's NMP was updated to include a change in the application rate limitations for five fields. The field's application rate limitations have become less restrictive than the previous NMP. There are no changes to the permit or in the permitted number of animal units. Only the updated portion of the Nutrient Management Plan is subject to comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
South Springs, LLC Dwight Busenitz 6698 NW Indianola Rd. Whitewater, KS 67154	SE/4 of Section 10 T25S, R03W Butler County	Walnut River Basin

Kansas Permit No. A-WABU-H002
Federal Permit No. KS0090611

An update to the Nutrient Management Plan (NMP) was received for this existing facility currently permitted for 8,520 head (3,408 animal units) of swine weighing greater than 55 pounds and 2,800 head (288 animal units) of swine weighing 55 pounds or less. The facility's NMP was updated to include a change in the application rate limit-

ation for four fields. The field's application rate limitations have become less restrictive than the previous NMP. There are no changes to the permit or in the permitted number of animal units. Only the updated portions of the Nutrient Management Plan are subject to comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Public Notice No. KS-Q-20-049/053

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g), and Federal Surface Water Criteria.

Name and Address of Applicant	Receiving Stream	Type of Discharge
N.R. Hamm Quarries, Inc. PO Box 17 Perry, KS 66073	Big Blue River via Tuttle Creek Reservoir via Black Vermillion River via Clear Fork Creek	Process Wastewater

Kansas Permit No. I-KS08-PO01
Federal Permit No. KS0097632

Legal Description: NW¼, SW¼ of S17 and E½, SE¼ of S18, T5S, R9E, Marshall County, Kansas

Facility Name: Lillis/Gardner Quarry

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This is a limestone quarrying and crushing operation with no rock washing. Outfall 001 consists of stormwater runoff and pit water, which is treated with grass filter strips and a rock check dam. The proposed permit contains generic language to protect the waters of the State.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Mulberry Limestone Quarry Company 325 N. 260th St. Mulberry, KS 66756	Cox Creek via Dry Branch Creek	Process Wastewater

Kansas Permit No. I-MC59-PO01
Federal Permit No. KS0096008

Legal Description: SW¼, S25, T28S, R24E, Crawford County, Kansas

Facility Name: Englevale Quarry

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This is a limestone quarrying and crushing operation with no rock washing. Outfalls 001A1 and 002A1 consist of stormwater runoff and pit water. The proposed permit contains generic language to protect the waters of the State.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Mulberry Limestone Quarry Company 325 N. 260th St. Mulberry, KS 66756	Marais des Cygnes River via Cox Creek via Unnamed Tributary	Process Wastewater

Kansas Permit No. I-MC27-PO04
Federal Permit No. KS0095991

Legal Description: SE¼ of S2, and NE¼ of S11, T29S, R25E, Crawford County, Kansas

Facility Name: Mulberry Quarry

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This is a limestone quarrying and crushing operation with no rock washing. Outfalls 001A1, 002A1, and 003A1 consist of stormwater runoff and pit water.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Nelson Quarries, Inc. PO Box 100 Gas, KS 66742	Marais des Cygnes River via Marmaton River via Mill Creek via Unnamed Tributary	Process Wastewater

Kansas Permit No. I-MC11-PO09
Federal Permit No. KS0096458

Legal Description: SW¼ of S16 and SE¼ of S17, T25S, R24E, Bourbon County, Kansas

Facility Name: Fort Scott Quarry

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This is a limestone quarrying and crushing operation, with some washing. While a majority of wash water is recycled on-site and does not discharge, the wash pit is capable of overflowing to a settling pond which can then discharge to Outfall 001A1. Outfall 002A1 consists of storm-water runoff that is treated by a settling pond. The proposed permit contains limits for total suspended solids.

Name and Address of Applicant	Receiving Stream	Type of Discharge
OR-AL Quarries, Inc. 1974 All American Rd. Hanover, KS 66945	Tuttle Creek Lake via Little Blue River via Fawn Creek	Process Wastewater

Kansas Permit No. I-BB22-PO01
Federal Permit No. KS0095125

Legal Description: NE¼ of S35, T4S, R6E, Marshall County, Kansas

Facility Name: Hanover Quarry

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This is a limestone quarrying and crushing operation with no rock washing. Outfall 001A1 consists of stormwater runoff and pit water. The proposed permit contains generic language to protect the waters of the State.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612-1367.

All comments regarding the draft documents or application notices received on or before May 30, 2020, will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-20-082/086, KS-Q-20-049/053) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the Secretary of Health and Environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

(continued)

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, Kansas. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available at <http://www.kdheks.gov/feedlots>. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

Lee A. Norman, M.D.
Secretary

Doc. No. 048094

State of Kansas

Governor's Grants Program

Notice of Available Grant Funding from the Federal Coronavirus Emergency Supplemental Funding Program

Grant funds are available from the Federal Coronavirus Emergency Supplemental Funding (CESF) Program to award approximately \$5.9 million to support prevention, preparation, and response efforts to the coronavirus pandemic. Eligible applicants for the CESF Program include units of state and local government; federally recognized Indian Tribal governments performing law enforcement functions; and nonprofit, community, and faith-based organizations. Grant projects will be funded for a period of 18 months from June 1, 2020 through November 30, 2021.

A copy of the CESF solicitation, may be downloaded at https://grants.ks.gov/docs/default-source/default-document-library/cesf-solicitation.pdf?sfvrsn=7bf-85d1a_2. All grant applications must be submitted to the Kansas Governor's Grant Program emailed or post-marked no later than May 20, 2020. For more information, contact the Kansas Governor's Grants Program at kggpapp@ks.gov or 785-291-3205.

Julienne Maska
Administrator

Doc. No. 048105

State of Kansas

Governor's Grants Program

Request for Comments

The Kansas Governor's Grants Program has prepared the Federal Fiscal Year 2020 Federal Edward Byrne Memorial Justice Assistance Grant (JAG) Program application to be submitted to the U.S. Department of Justice, Office of Justice Programs, Bureau of Justice Assistance, no later than May 11, 2020. The federal application is currently available for public comment. Comments must be submitted no later than May 6, 2020. The application can be accessed at https://grants.ks.gov/docs/default-source/byrne-jag-solicitation/fy20-federal-program-narrative.pdf?sfvrsn=a7075d1a_2.

Please submit your comments by email to kggp@ks.gov or call 785-291-3205.

Julienne Maska
Administrator

Doc. No. 048095

State of Kansas

Public Employees Retirement System

Request for Proposals

The Kansas Public Employees Retirement System (KPERs) is soliciting competitive fee proposals from qualifying firms to provide executive searches for investment and other executive level positions on an as-needed basis for KPERs.

Candidates should respond to this Request for Proposals (RFP) for the purpose of providing such executive recruitment services for the Retirement System in compliance with KPERs' legal, management, and reporting requirements.

Details are available in the RFP document at www.kpers.org. Proposals must be received in the KPERs office by 3:00 p.m. (CST) May 21, 2020. All related questions should be in writing and directed to Julie Baker, Human Resources Director or jbaker@kpers.org.

Julie Baker
Human Resources Director

Doc. No. 048098

State of Kansas

Governmental Ethics Commission

Opinion No. 2020-02

Written April 22, 2020 to Bradley D. Jurgensen, 7333 Lincoln Rd., Oskaloosa, KS 66606.

Synopsis: Under the facts provided, a former state employee may accept employment with a state contractor by application of the K.S.A. 46-233(d)(1) exception to any waiting period provided for in K.S.A. 46-233(a) and (b).

Cited herein: K.S.A. 46-233, Ethics Opinions, Nos. 2000-48 and 2012-01.

Dear Mr. Jurgensen:

We understand you request our opinion concerning application of the state governmental ethics laws, K.S.A. 46-215 *et seq.*, because of your prior state employment as the former director of the Kansas Correctional Industries (KCI), Kansas Department of Corrections (KDOC). Our opinion in response to your request is limited in its applicability. This opinion does not address whether some other statutory system, common law theory, or agency rule or regulation applies to your inquiry.

Factual Statement

As indicated in your opinion request, you retired from employment with the State of Kansas in December 2019. It is your intent to pursue employment with Union Supply Group. As a state employee you were substantially involved in the preparation of or participated in the making of a KDOC contract with Union Supply Company, Inc., d/b/a Union Supply Group. Specifically, you drafted

the specifications for the Request for Proposal, was part of the procurement negotiation committee and met with representatives from Union Supply Group, one of several companies that responded to the Request for Proposal, which was published for competitive bids in the Kansas Register, vol. 31, no. 32 (August 9, 2012). You helped review the proposals and developed the evaluation narrative and ranking report and eventually was a signatory to the contract.

The contract was awarded April 17, 2013 through June 30, 2018, with the option to renew the contract for an additional five-year term. A 2015 amendment only required the contract to collect, report and remit Kansas sales tax and any local sales tax by a political subdivision. The KDOC and Union Supply Group exercised the option to renew the contract on July 1, 2018 through June 30, 2023. You were not involved with this five-year extension.

Questions

Under the provided facts, may a prospective offer of employment from Union Supply Group be accepted without violating the K.S.A. 46-233 limitation on post-state employment with a person or business which contracted with the state within the preceding two years?

Analysis and Opinion

The state ethics law which may limit a state employee's acceptance of employment after working for the state is K.S.A. 46-233. It provides in pertinent part:

(a) ... (2) Except as otherwise provided in this subsection, whenever any individual has participated as a state officer or employee in the making of any contract with any person or business, such individual shall not accept employment with such person or business as an employee, independent contractor or subcontractor until two years after performance of the contract is completed or until two years after the individual terminates employment as a state officer or employee, whichever is sooner. This prohibition on accepting employment shall not apply in any case where a state officer or employee who participated in making a contract while employed by the state of Kansas is laid off or scheduled to be laid off from any state position on or after July 1, 2002. As used in this subsection (a) (2), "laid off" and "layoff" mean a state officer or employee in the classified service under the Kansas civil service act, being laid off under K.S.A. 75-2948, and amendments thereto.

...

(d) Subsections (a) and (b) shall not apply to the following:

- (1) Contracts let after competitive bidding has been advertised for by published notice; and
- (2) contracts for property or services for which the price or rate is fixed by law.

Because the contract which you were substantially involved in the preparation of or participated in the making of was let for competitive bid after advertised published notice the K.S.A. 46-233(d)(1) exception applies. Hence, you are not subject the prohibition contained in K.S.A. 46-233(b).

When the was amended in 2016, the amendment was approved under your signature on behalf of Kansas Correctional Industries. Because the amendment did not involve a renegotiation of the contract, or new negotiated terms, the amendment will not "subject to the prohibitions contained in K.S.A. 46-233(a) and (b)." See Ethics Opinion Nos. 2000-48 and 2012-01.

Conclusion

Under the facts provided, you may immediately accept employment with the Union Supply Group and not violate the provisions of the Kansas governmental ethics laws, K.S.A. 46-215 *et seq.*

Sincerely,

Nicholas Hale, Chairman
By Direction of the Commission

Doc. No. 048104

(Published in the Kansas Register April 30, 2020.)

City of Atchison, Kansas

Notice of Intent to Seek Private Placement General Obligation Bonds, Series 2020-A

Notice is hereby given that the City of Atchison, Kansas (the "Issuer") proposes to seek a private placement of the above-referenced bonds (the "Bonds"). The maximum aggregate principal amount of the Bonds shall not exceed \$1,250,000. The proposed sale of the Bonds is in all respects subject to approval of a bond purchase agreement between the Issuer and the purchaser of the Bonds and the passage of an ordinance and adoption of a resolution by the governing body authorizing the issuance of the Bonds and the execution of various documents necessary to deliver the Bonds.

Dated April 20, 2020.

Cari Strieby
Finance Manager

Doc. No. 048099

State of Kansas

Board of Nursing

Notice of Hearing on Proposed Administrative Regulations

In response to concerns related to COVID-19, the public hearing on the Kansas Board of Nursing proposed administrative regulations K.A.R. 60-11-116, 60-11-119 and 60-13-110 scheduled for May 7, 2020, notice of which was published in the February 6, 2020 Kansas Register (Vol. 39, No. 6) is amended. The public hearing will be conducted at 1:00 p.m. Thursday, May 7, 2020, and anyone wanting to join the public hearing may do so by calling 1-877-278-8686 (access code 865816) at the time of the hearing and public comment will be limited only to written comment and telephone comment. There have been no changes to the proposed regulations or the economic impact from the notice published February 6, 2020.

This 60-day notice of the public hearing shall constitute a public comment period for the purpose of receiving
(continued)

written public comments on the proposed regulations. All interested parties may submit written comments prior to the hearing to the Executive Administrator of the Kansas State Board of Nursing, 900 SW Jackson, St., Room 1051, Topeka, KS 66612 or by email to carol.moreland@ks.gov. All interested parties will be given a reasonable opportunity to present their views regarding the adoption of the proposed regulations during the public hearing. Phone comments will be taken by calling 1-877-278-8686 (access code 865816) at the time of the hearing. In order to provide all parties an opportunity to present their views, it may be necessary to request that each participant limit any presentation to five minutes.

Any individual with a disability may request an accommodation in order to participate in the public hearing and may request the proposed regulations and economic impact statements in an accessible format. Requests for accommodation to participate in the hearing should be made at least five working days in advance of the hearing by contacting Carol Moreland at 785-296-5752.

A summary of the proposed regulations and the economic impact follows. A copy of the proposed regulations and associated economic impact statement may be obtained by accessing the Kansas State Board of Nursing website at <https://ksbn.kansas.gov> or by contacting the Executive Administrator of the Kansas State Board of Nursing, Landon State Office Building, 900 SW Jackson St., Room 1051, Topeka, KS 66612, phone 785-296-5752, or carol.moreland@ks.gov prior to the date of the hearing.

K.A.R. 60-11-116. Reinstatement of inactive or lapsed license. The proposed revision adds the language of inactive license to this regulation that covers reinstatement of a license. Prior to this revision the APRNs did not have the option of an inactive license, only to let their license lapse if not renewed. There is no economic impact difference to an APRN that reinstates an inactive or lapsed license. The cost of reinstatement is the same for a lapsed and an inactive license. There is no economic impact difference to the Board of Nursing for a reinstatement of an inactive vs. a lapsed license. The reinstatement application for an inactive license and a lapsed license is the same application. There is no economic impact on businesses or the general public.

K.A.R. 60-11-119. Payment of fees. The proposed revision adds language for fees for an inactive license and renewal of an inactive license. The economic impact of an inactive license for APRNs is a cost of \$20 vs. a lapsed license has no cost. An inactive license must be renewed every two years for a cost of \$20 and a lapsed license is not renewed. The economic impact to the Board of Nursing is the revenue of the inactive license and renewal of the inactive license. There is no economic impact on business or the general public.

K.A.R. 60-13-110. Reinstatement of inactive or lapsed authorization. The proposed regulation adds language of inactive status for a nurse anesthetist authorized to practice in Kansas who wishes to reinstate their authorization to practice. Prior to this revision the nurse anesthetists did not have the option of an inactive authorization, only to let their authorization lapse if not renewed. There is no economic impact difference to a nurse anes-

thetist that reinstates an inactive or lapsed authorization. The cost of reinstatement is the same for a lapsed and an inactive authorization. There is no economic impact difference to the Board of Nursing for a reinstatement of an inactive vs. a lapsed authorization. The reinstatement application for both is the same application. There is no economic impact on businesses or the general public.

Carol Moreland, MSN, RN
Executive Administrator

Doc. No. 048093

State of Kansas

Board of Healing Arts

Permanent Administrative Regulations

Article 78.—BUSINESS ENTITIES

100-78-1. Business entity certificate of authorization; expiration date. Each business entity certificate of authorization issued by the board shall expire on June 30 of each year, beginning June 30, 2021. (Authorized by and implementing K.S.A. 2019 Supp. 65-28,134; effective, T-100-2-28-20, March 1, 2020; effective May 15, 2020.)

100-78-2. Fees. The following fees shall be collected by the board:

- (a) Application for business entity certificate of authorization..... \$1,000.00
- (b) Annual renewal of business entity certificate of authorization..... \$1,000.00

(Authorized by and implementing K.S.A. 2019 Supp. 65-28,134; effective, T-100-2-28-20, March 1, 2020; effective May 15, 2020.)

Tucker Poling
Interim Executive Director

Doc. No. 048092

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3603. “Silverado” instant ticket lottery game number 168. (a) The Kansas lottery shall conduct an instant winner lottery game entitled “Silverado.” The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3603.

(b) The “play and prize symbols” and “captions” for this game are as follows:

Play Symbols	Captions
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN

11	ELVN	50 ⁰⁰	FIFTY
12	TWLV	75 ⁰⁰	SVTYFIV
13	THRN	\$100	ONE-HUN
14	FRTN	\$500	FIVE-HUN
15	FIFTN	\$1000	ONETHOU
16	SIXTN	\$2500	TWF-HUN
17	SEVTN	\$10000	10-THOU

18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSEV
48	FRYEGT
49	FRYNIN
50	FIFTY
51	FTYONE
52	FTYTWO
53	FTYTHR
54	FTYFOR
55	FTYFIV
56	FTYSIX
2X	DBL
3X	TPL
Chevrolet automobile logo	WIN

(c) For this game, a play/prize symbol shall appear in 55 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) The "Silverado" ticket is a key number match game with an instant win and a multiplier feature. The player will scratch the play area to reveal five "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If the player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If the player reveals a "2X" symbol, the player wins double the prize amount shown. If the player reveals a "3X" symbol, the player wins triple the prize amount shown. If the player reveals a Chevrolet automobile logo symbol, the player wins a 2020 Chevrolet Silverado vehicle plus \$10,000 cash. The vehicle and cash prize includes federal and state mandatory income withholding taxes and all initial taxes and fees for the vehicle. No cash option is available for the vehicle.

(g) Each ticket in this game may win up to 25 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Winners Per 300,000	Prize Cost
Free Ticket	Free Ticket	30,000	\$0
\$10	\$10	31,000	\$310,000
\$15	\$15	19,970	\$299,550
\$20	\$20	4,200	\$84,000
\$10 DBL	\$20	4,500	\$90,000
\$10 + \$10	\$20	4,000	\$80,000
\$25	\$25	4,675	\$116,875
\$10 + \$15	\$25	4,700	\$117,500
\$50	\$50	700	\$35,000
\$10 TPL + \$20	\$50	850	\$42,500
\$10 x 5	\$50	700	\$35,000
\$25 DBL	\$50	850	\$42,500
(\$20 x 2) + \$10	\$50	700	\$35,000
\$75	\$75	300	\$22,500
\$25 TPL	\$75	450	\$33,750
\$25 DBL + \$15 + \$10	\$75	450	\$33,750
(\$10 x 6) + \$15	\$75	320	\$24,000
\$100	\$100	150	\$15,000
\$20 TPL + \$25 + \$15	\$100	230	\$23,000
(\$15 x 4) + (\$10 x 4)	\$100	150	\$15,000
\$50 DBL	\$100	250	\$25,000

Prize Symbols

FREE
10 ⁰⁰
15 ⁰⁰
20 ⁰⁰
25 ⁰⁰

Captions

TICKET
TEN\$
FIFTEEN
TWENTY
TWEN-FIV

(continued)

\$10 x 10	\$100	200	\$20,000
\$500	\$500	20	\$10,000
\$75 TPL + (\$50 x 3) + (\$20 x 3) + \$15 + \$50	\$500	25	\$12,500
(\$25 x 15) + (\$15 x 5) + (\$10 x 5)	\$500	20	\$10,000
(\$10 x 9) + (\$25 x 7) + (\$20 x 3) + (\$50 x 2) + \$75	\$500	20	\$10,000
\$100 TPL + (\$50 x 3) + (\$25 x 2)	\$500	30	\$15,000
\$1,000	\$1,000	4	\$4,000
(\$75 x 3) + \$500 + (\$25 x 7) + \$100	\$1,000	4	\$4,000
\$500 DBL	\$1,000	6	\$6,000
(\$10 x 5)+(\$20 x 5)+(\$25 x 4)+(\$50 x 7)+(\$100 x 4)	\$1,000	6	\$6,000
\$2,500	\$2,500	3	\$7,500
\$1,000 + (\$100 x 10) + (\$50 x 10)	\$2,500	3	\$7,500
TRUCK + \$10,000 Cash	\$100,000	2	\$200,000
2nd Chance Drawing 2020 Silverado	\$100,000		\$100,000
2nd Chance Drawing Cash Prizes	\$32,000		\$32,000
Players Loyalty Program	\$19,440		\$19,440
TOTAL		109,488	\$1,943,865

(j) The odds of winning a prize in this game are approximately one in 2.74. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-4-15-20, Feb. 12, 2020.)

111-4-3604. "Kansas Dollars" instant ticket lottery game number 178. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Kansas Dollars." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3604.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
26	TWYSIX
27	TWYSEV
28	TWYEGT

29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THR FIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSEV
48	FRYEGT
49	FRYNIN
Symbol of a coin	WIN
10X	10TIMES

Prize Symbols

FREE
10 ⁰⁰
15 ⁰⁰
20 ⁰⁰
25 ⁰⁰
50 ⁰⁰
75 ⁰⁰
\$100
\$500
\$2500
\$75000

Captions

TICKET
TEN\$
FIFTEEN
TWENTY
TWEN-FIV
FIFTY
SVTYFIV
ONE-HUN
FIVE-HUN
TWF-HUN
75-THOU

**Bonus Play Fast
\$50 Symbols**

Symbol of a pot of gold	WIN\$50
Symbol of a piggy bank	PGYBNK
Symbol of the sun	SUN
Symbol of a tree	TREE
Symbol of a leaf	LEAF
Symbol of a scarecrow	SCR CRW

Captions

(c) For this game, a play/prize symbol shall appear in 57 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) "Kansas Dollars" is a key number match game with an instant win, a fast \$50 bonus area, and a multiplier feature. The player will scratch the play area to reveal six "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS"

to any of the “WINNING NUMBERS,” the player wins the prize shown below that number. If a player reveals a symbol of a coin, the player instantly wins the prize amount shown. If a player reveals a “10X” symbol, the player wins ten times the prize amount shown. The player will scratch the fast \$50 bonus area. If a player reveals a symbol of a pot of gold, the player instantly wins \$50.

(g) Each ticket in this game may win up to 26 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Bonus	Prize	Winners Per 300,000	Prize Cost
Free Ticket		Free Ticket	25,000	\$0
\$10		\$10	34,000	\$340,000
\$15		\$15	18,320	\$274,800
\$20		\$20	6,500	\$130,000
\$10 + \$10		\$20	7,100	\$142,000
\$25		\$25	5,100	\$127,500
\$10 + \$15		\$25	5,000	\$125,000
\$50		\$50	750	\$37,500
	\$50	\$50	1,100	\$55,000
(\$15 x 2) + (\$10 x 2)		\$50	1,000	\$50,000
\$10 x 5		\$50	1,000	\$50,000
\$75		\$75	300	\$22,500
\$15 x 5		\$75	400	\$30,000
\$25	\$50	\$75	350	\$26,250
\$15 + \$10	\$50	\$75	400	\$30,000
(\$10 x 6) + \$15		\$75	300	\$22,500
\$100		\$100	150	\$15,000
\$10 (10X)		\$100	330	\$33,000
(\$15 x 4) + (\$10 x 4)		\$100	200	\$20,000
\$50	\$50	\$100	200	\$20,000
\$10 x 10		\$100	200	\$20,000
\$500		\$500	20	\$10,000
\$20 (10X) + (\$10 x 22) + (\$15 x 2)	\$50	\$500	30	\$15,000
\$50 (10X)		\$500	30	\$15,000
(\$50 x 3) + (\$20 x 10) + (\$25 x 4)	\$50	\$500	30	\$15,000
\$25 x 18	\$50	\$500	25	\$12,500
\$2500 **		\$2,500	5	\$12,500
(\$500 x 2) + (\$100 x 12) + (\$25 x 5) + (\$20 x 5) + \$75		\$2,500	5	\$12,500
\$100 (10X) + (\$500 x 3)		\$2,500	7	\$17,500
\$75,000		\$75,000	3	\$225,000
Players Loyalty Program		\$19,008		\$19,008
		TOTAL	107,855	\$1,925,058

(j) The odds of winning a prize in this game are approximately one in 2.78. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-4-15-20, Feb. 12, 2020.)

111-4-3605. “White Ice 7s” instant ticket lottery game number 175. (a) The Kansas lottery may conduct an instant winner lottery game entitled “White Ice 7s.” The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3605.

(b) The “play and prize symbols” and “captions” for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THR FIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSEV
48	FRYEGT
49	FRYNIN
50	FIFTY

Symbol of a seven (outlined)

10TIMES

(continued)

Prize Symbols	Captions					
FREE	TICKET	\$10		\$10	34,000	\$340,000
10 ^{.00}	TEN\$	\$15		\$15	18,290	\$274,350
15 ^{.00}	FIFTEEN	\$20		\$20	6,500	\$130,000
20 ^{.00}	TWENTY	\$10 + \$10		\$20	7,100	\$142,000
25 ^{.00}	TWEN-FIV	\$25		\$25	5,100	\$127,500
50 ^{.00}	FIFTY	\$10 + \$15		\$25	5,000	\$125,000
75 ^{.00}	SVTYFIV	\$50		\$50	750	\$37,500
\$100	ONE-HUN	(\$15 x 2) + (\$10 x 2)	\$50	\$50	800	\$40,000
\$500	FIVE-HUN	(\$20 x 2) + \$10		\$50	900	\$45,000
\$1000	ONETHOU	\$10 x 5		\$50	900	\$45,000
\$75000	75-THOU	\$75		\$75	400	\$30,000
		\$15 x 5		\$75	500	\$37,500
		\$10 + \$15	\$50	\$75	400	\$30,000
		(\$10 x 6) + \$15		\$75	400	\$30,000
		\$100		\$100	200	\$20,000
		\$10 (10X)		\$100	350	\$35,000
		(\$15 x 4) + (\$10 x 4)		\$100	200	\$20,000
		\$10 x 5	\$50	\$100	200	\$20,000
		\$10 x 10		\$100	200	\$20,000
		\$500		\$500	20	\$10,000
		\$20 (10X) + (\$10 x 22) + (\$15 x 2)	\$50	\$500	37	\$18,500
		\$10 (10X) + (\$100 x 3) + \$50	\$50	\$500	35	\$17,500
Symbol of a seven (outlined)	WIN\$50	\$50 (10X)		\$500	34	\$17,000
	NOBONUS	\$1,000		\$1,000	4	\$4,000
	NOBONUS	(\$75 x 2) + \$500 + (\$25 x 8) + (\$20 x 5)	\$50	\$1,000	5	\$5,000
	NOBONUS	\$100 (10X)		\$1,000	10	\$10,000
	NOBONUS	\$500 x 2		\$1,000	6	\$6,000
	NOBONUS	\$75,000		\$75,000	3	\$225,000
	NOBONUS	Players Loyalty Program		\$19,008		\$19,008
	NOBONUS			TOTAL	108,244	\$1,925,858

(c) For this game, a play/prize symbol shall appear in 59 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) "White Ice 7s" is a key number match ticket with two different games, a bonus area, and a multiplier feature. In Game 1, the player will scratch the play area to reveal four "WINNING NUMBERS" and 15 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. In Game 2, the player will scratch the play area to reveal four "WINNING NUMBERS" and 10 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a seven (outlined), in either Game 1 or Game 2, the player wins ten times the prize amount shown. The player will scratch the bonus area. If a player reveals a symbol of a seven (outlined), the player instantly wins \$50.

(g) Each ticket in this game may win up to 26 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Bonus	Prize	Winners Per 300,000	Prize Cost
Free Ticket	Free Ticket	25,000	\$0

(j) The odds of winning a prize in this game are approximately one in 2.77. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-4-15-20, Feb. 12, 2020.)

111-4-3606. "Galaga Cash" instant ticket lottery game number 169. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Galaga Cash." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3606.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
03	THR
04	FOR
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN

19	NINTN
20	TWNTY
21	TWYONE
22	TWY TWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THR TY
31	THRONE
32	THR TWO
33	THR THR
34	THR FOR
35	THR FIV
36	THR SIX
37	THR SEV
38	THR EGT
39	THR NIN
40	FORTY
41	FRY ONE
42	FRY TWO
43	FRY THR
44	FRY FOR
45	FRY FIV
46	FRY SIX
2X	DBL
5X	5TIMES

Prize Symbols

FREE
\$5 ⁰⁰
10 ⁰⁰
15 ⁰⁰
25 ⁰⁰
50 ⁰⁰
75 ⁰⁰
\$100
\$500
\$1000
\$5000
\$25000

Captions

TICKET
FIVE\$
TEN\$
FIFTEEN
TWEN-FIV
FIFTY
SVTYFIV
ONE-HUN
FIVE-HUN
ONETHOU
FIVTHOU
25-THOU

Bonus Play Symbols

Symbol of a comet
Symbol of a planet
Symbol of a rocket
Symbol of a star
Symbol of the sun
Symbol of a UFO

Captions

COMET
PLANET
ROCKET
STAR
SUN
UFO

(c) For this game, a play symbol shall appear in 48 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 060.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(f) "Galaga Cash" is a key number match ticket with an instant win, a bonus area, and a multiplier feature. The player will scratch the play area to reveal five "WINNING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a "2X" symbol, the player wins double the prize amount shown. If a player reveals a "5X" symbol, the player wins five times the prize amount shown. The player will scratch the bonus area. If a player reveals three like symbols, the player instantly wins \$25.

(g) Each ticket in this game may win up to 21 times.

(h) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Bonus	Prize	Winners Per 600,000	Prize Cost
Free Ticket		Free Ticket	50,000.00	\$0
\$5		\$5	68000	\$340,000
\$10		\$10	18800	\$188,000
\$5 (2X)		\$10	16000	\$160,000
\$5 + \$5		\$10	12040	\$120,400
\$15		\$15	8000	\$120,000
\$5 + \$10		\$15	9560	\$143,400
\$5 (2X) + \$5		\$15	12000	\$180,000
\$25		\$25	1200	\$30,000
	\$25	\$25	1200	\$30,000
\$10 (2X) + \$5		\$25	2000	\$50,000
(\$5 x 2) + \$15		\$25	1200	\$30,000
\$5 (5X)		\$25	2000	\$50,000
\$50		\$50	400	\$20,000
\$10 (5X)		\$50	640	\$32,000
\$15 + \$10	\$25	\$50	400	\$20,000
\$10 (2X) + \$5	\$25	\$50	640	\$32,000
\$75		\$75	200	\$15,000
\$5 x 15		\$75	200	\$15,000
\$5 (5X) + (\$5 x 5)	\$25	\$75	280	\$21,000
(\$5 x 11) + \$10 (2X)		\$75	280	\$21,000
\$100		\$100	80	\$8,000
\$75	\$25	\$100	52	\$5,200
(\$5 x 16) + \$10 (2X)		\$100	100	\$10,000
\$15 (5X) + \$15 + \$10		\$100	100	\$10,000
\$500		\$500	20	\$10,000
(\$10 x 5) + (\$25 x 13) + (\$50 x 2)	\$25	\$500	20	\$10,000
(\$10 x 10) + (\$75 x 2) + \$50 + \$100 (2X)		\$500	20	\$10,000
\$1,000		\$1,000	8	\$8,000
\$500 + (\$100 x 5)		\$1,000	4	\$4,000
\$500 + (\$50 x 10)		\$1,000	8	\$8,000
\$100 x 10		\$1,000	8	\$8,000
\$5,000		\$5,000	2	\$10,000
(\$500 x 6) + (\$1,000 x 2)		\$5,000	2	\$10,000
\$25,000		\$25,000	6	\$150,000
Players Loyalty Program		\$19,250		\$19,250

(continued)

2nd Chance Draw (console + \$1,000 cash)	\$1,300		\$13,000
	TOTAL	205,470	\$1,911,250

(j) The odds of winning a prize in this game are approximately one in 2.92. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-4-15-20, Feb. 12, 2020.)

111-4-3607. "Premier Cash" instant ticket lottery game number 180. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Premier Cash." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3607.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Symbol of double moneybags	DOUBLE
Symbol of a safe	WINALL

Prize Symbols	Captions
\$10 ⁰⁰	TEN\$
\$20 ⁰⁰	TWENTY
\$25 ⁰⁰	TWENFIV
\$30 ⁰⁰	THIRTY
\$40 ⁰⁰	FORTY
\$50 ⁰⁰	FIFTY
\$100	ONEHUN
\$200	TWOHUN
\$500	FIVHUN
\$1,000	ONETHO
\$10,000	10-THOU
\$250,000	250-THOU

Front of Ticket:	Play Symbols	Captions
	31	TRONE
	32	TRTWO
	33	TRTHR
	34	TRFOR
	35	TRFIV
	36	TRSIX
	37	TRSVN
	38	TREGT
	39	TRNIN
	40	FRTY
	41	FRON
	42	FRTO
	43	FRTHR
	44	FRFOR
	45	FRFIV
	46	FRSIX
	47	FRSVN
	48	FREGT
	49	FRNIN
	50	FTY
	51	FTON
	52	FTTWO
	53	FTTHR
	54	FTFOR
	55	FTFIV
	56	FTSIX
	57	FTSVN
	58	FTEGT
	59	FTNIN
	60	SXTY
	61	SXON
	62	SXTO
	63	SXTHR
	64	SXFOR
	65	SXFIV
	66	SXSIX
	67	SXSVN
	68	SXEGT
	69	SXNIN
	70	SVTY
Symbol of a bankroll		WIN

Back of Ticket:	Play Symbols	Captions
Bonus Game 1		
	01	ONE
	02	TWO
	03	THR
	04	FOR
	05	FIV
	06	SIX
	07	SVN
	08	EGT
	09	NIN
	10	TEN

Back of Ticket:	Play Symbols	Captions
Bonus Game 2		
	11	ELV
	12	TLV
	13	THN
	14	FRN
	15	FTN
	16	SXN
	17	STN
	18	ETN
	19	NTN
	20	TWY

Back of Ticket:	Play Symbols	Captions
Bonus Game 3		
	21	TWON
	22	TWTO
	23	TWTHR
	24	TWFOR
	25	TWFIV
	26	TWSIX
	27	TWSVN
	28	TWEGT
	29	TWNIN

All Games:	Bonus	Prize Symbols	Captions					
		30	TRTY	\$30	\$20	\$50	2,500	\$125,000
				\$30 + \$20		\$50	2,500	\$125,000
				\$25 w/ MONEYBAG		\$50	2,500	\$125,000
					\$50	\$50	1,250	\$62,500
		\$10 ⁰⁰	TEN\$	\$50		\$50	1,250	\$62,500
		\$20 ⁰⁰	TWENTY	\$10 x 5	\$10 x 5	\$100	1,250	\$125,000
		\$25 ⁰⁰	TWENFIV	\$30	\$40 + \$30	\$100	1,250	\$125,000
		\$30 ⁰⁰	THIRTY		\$25 x 4	\$100	1,500	\$150,000
		\$40 ⁰⁰	FORTY	\$50 w/MONEYBAG		\$100	1,500	\$150,000
		\$50 ⁰⁰	FIFTY	\$20 x 5		\$100	1,500	\$150,000
		\$100	ONEHUN		\$100	\$100	1,500	\$150,000
		\$200	TWOHUN	\$100		\$100	1,500	\$150,000
		\$500	FIVHUN	\$20 x 5	\$20 x 5	\$200	625	\$125,000
				\$100 w/ MONEYBAG		\$200	625	\$125,000
				\$10 x 15	\$10 x 5	\$200	625	\$125,000
				\$25 x 4	\$25 x 4	\$200	625	\$125,000
					\$200	\$200	625	\$125,000
				\$200		\$200	625	\$125,000
				(\$20 x 5) + (\$10 x 20)	(\$20 x 5) + (\$10 x 10)	\$500	250	\$125,000
				\$50 w/ MONEYBAG x 5		\$500	250	\$125,000
				\$20 w/SAFE		\$500	300	\$150,000
					\$500	\$500	250	\$125,000
				\$500		\$500	250	\$125,000
				(\$40 x 5) + (\$20 x 20)	(\$40 x 5) + (\$20 x 10)	\$1,000	15	\$15,000
				\$50 w / MONEYBAG x 7	\$30 x 10	\$1,000	15	\$15,000
				\$500 w/ MONEYBAG		\$1,000	15	\$15,000
				\$1,000		\$1,000	10	\$10,000
				(\$500 x 7) + (\$200 x 17) + \$100	\$200 x 15	\$10,000	7	\$70,000
				\$10,000		\$10,000	5	\$50,000
				\$250,000		\$250,000	4	\$1,000,000
							100,121	\$6,700,000
				Player Loyalty Program				\$67,000
							100,121	\$6,767,000

(c) For this game, a play/prize symbol shall appear in 88 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 019.

(e) The price of instant tickets sold by a retailer for this game shall be \$30.00 each.

(f) "Premier Cash" is a key number match game with an instant win and multiplier features on the front side of the ticket, and three (3) bonus key number match games featured on the back side of the ticket. The player will scratch the front side of the ticket play area to reveal five (5) "WINNING NUMBERS" and 25 "YOUR NUMBERS." If the player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If the player reveals a symbol of a bankroll, the player wins the prize amount shown below the "BANKROLL" symbol. If the player reveals a symbol of double moneybags, the player wins two times the prize amount shown below the "DOUBLE MONEYBAGS" symbol. If the player reveals a symbol of a safe, the player wins all prizes shown on the front side of the ticket. The player will turn the ticket over and play three (3) bonus games on the back side. Each game plays separately. The player will scratch the one (1) "WINNING NUMBER" and five (5) "YOUR NUMBERS" in each bonus game. If the player matches any of the "YOUR NUMBERS" to the "WINNING NUMBER" corresponding to that bonus game, the player wins the prize shown below that number.

(g) Each ticket in this game may win up to 40 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Ticket Front	Ticket Back	Prize	Expected Number of Prizes in Game	Expected Value in Game
	\$30	\$30	18,750	\$562,500
\$30		\$30	18,750	\$562,500
\$20	\$20	\$40	3,750	\$150,000
\$20 x 2		\$40	3,750	\$150,000
	\$40	\$40	15,000	\$600,000
\$40		\$40	15,000	\$600,000

(j) The odds of winning a prize in this game are approximately one in 3.00. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-4-15-20, Feb. 12, 2020.)

Article 5. — MULTI-STATE ONLINE GAMES AND DRAWINGS

111-5-245. "2by2 More Cash for You" Promotion.

(a) The Kansas lottery may conduct a promotion entitled "2by2 More Cash for You" awarding seven (7) cash prizes. Entries into the drawings will be accepted beginning at 4:01 a.m. on April 1, 2020 and ending at 11:59 p.m. on May 1, 2020. The drawing will be conducted sometime after entry into the drawing has closed but before noon on May 7, 2020, at which time the winners will be announced.

(b) The specific ticket eligible for entry into this drawing shall be winning or non-winning Kansas Lottery 2by2 tickets purchased after 4:00 a.m. on March 31, 2020.

(c) A player shall enter the drawing through the Kansas Lottery PlayOn program available at www.kslottery.com. The player shall follow the hyperlink specifically (continued)

designated for the purpose of accessing the “2by2 More Cash for You” promotion. The player may enter the required data from the entry ticket manually for entry into the drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry per dollar based on the cost of the ticket.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. The first seven (7) players selected will receive \$5,000 cash.

(e) A player may enter the drawing with as many “2by2” tickets as they have available, but may win only one prize in this promotion.

(f) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except:

(1) In this promotion all 10-day deadlines set forth in K.A.R. 111-18-5(n) shall be 10 business days; and,

(2) In this promotion the 10 business day deadline for the seven (7) winners to return their claim forms shall commence with the date of the announcement of winners.

(g) Only registered PlayOn members may enter the “2by2 More Cash for You” promotion. PlayOn members must enter themselves into the drawings according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.

(h) By entering the promotion, entrant agrees to PlayOn terms and conditions.

(i) Winners are responsible for any state and federal income taxes.

(j) Rules applicable to this promotion are contained in K.A.R. 111-5-245 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-4-15-20, Feb. 12, 2020.)

Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

111-19-77. Summer of Silverado Drawings. (a) The Kansas lottery may conduct a promotional event entitled “Summer of Silverado Drawings.” The promotional event shall consist of a series of four preliminary drawings and a grand prize giveaway event. In each preliminary drawing five alternates will also be drawn. The Kansas lottery will accept entries into the promotional event beginning at 12:01 a.m. the day Kansas lottery “Silverado” instant tickets are first offered for sale to the general public and ending at 11:59 p.m. on September 20, 2020. The grand prize giveaway event will be conducted at the athletic event at Bill Snyder Family Stadium on the campus of Kansas State University in Manhattan, Kansas, on October 10, 2020, at a time to be determined by the Kansas Lottery. The grand prize giveaway event will be audio and video recorded.

(b) The specific ticket eligible for entry into the promotional event shall be a non-winning \$10 Kansas lottery

instant game ticket from “Silverado,” game number 168.

(c) A player shall enter the promotional event through the Kansas Lottery PlayOn program available at www.kslottery.com. The player shall follow the hyperlink specifically developed for the purpose of accessing the promotional event. The player may enter the required data from the entry ticket manually for entry into the promotional event. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the promotional event using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry into the promotional event.

(d) Four preliminary drawings will be conducted to select finalists in the grand prize giveaway, as follows:

(1) Entry deadline for the first preliminary drawing will be 11:59 p.m., June 22, 2020. The first preliminary drawing will be conducted sometime after entry into the drawing has closed but before noon on June 25, 2020, at which time three finalists will be announced;

(2) Entry deadline for the second preliminary drawing will be 11:59 p.m., July 20, 2020. The second preliminary drawing will be conducted sometime after entry into the drawing has closed but before noon on July 23, 2020, at which time three finalists will be announced;

(3) Entry deadline for the third preliminary drawing will be 11:59 p.m., August 24, 2020. The third preliminary drawing will be conducted sometime after entry into the drawing has closed but before noon on August 27, 2020, at which time three finalists will be announced; and

(4) Entry deadline for the fourth preliminary drawing will be 11:59 p.m., September 20, 2020. The fourth preliminary drawing will be conducted sometime after entry into the drawing has closed but before noon on September 23, 2020. One finalist will be announced sometime after the entry in the drawing has closed but before noon on September 23, 2020.

(e) The grand prize winner in the promotional event shall receive a 2020 Chevrolet Silverado, \$10,000 cash, federal and state mandatory income withholding taxes and all initial taxes and fees for the vehicle. No cash option is available.

(f) The finalists in the promotional event who are not awarded the grand prize, shall each receive a secondary prize, subject to federal and state mandatory income withholding taxes, as follows:

(1) Three will win \$1,500 cash;

(2) Three will win \$2,500 cash;

(3) Two will win \$5,000 cash; and

(4) One will win \$10,000 cash.

(g) All prizes are subject to lottery validation, set-offs, and deductions authorized by law.

(h) Any entries not selected as finalists shall remain eligible to be selected as a finalist in any subsequent drawing.

(i) There is no limit on the number of non-winning tickets a person may enter. If a person is selected as a finalist in any drawing, the finalist shall not be eligible to be selected as a finalist in any subsequent drawing(s).

(j) On each day the preliminary finalists are announced, the procedures set forth in K.A.R. 111-18-5 for contacting

the finalists shall be followed, except:

(1) In this promotion the 10-day deadline for the finalists to return their claim forms shall commence with the date of the announcement of finalists; and,

(2) In this promotion the fourth preliminary finalist shall have five business days to return their claim form commencing on the date the finalist was announced.

(k) In addition to becoming finalists in the grand prize giveaway, the ten finalists selected in the four preliminary drawings shall also each receive the following:

(1) Two game tickets and a parking pass to the October 10, 2020 athletic event held at the Bill Snyder Family Stadium in Manhattan, Kansas;

(2) Three days and two nights accommodations at a hotel selected by the Kansas Lottery for two adults, including all hotel taxes and fees; and,

(3) \$200 cash.

(l) If, due to circumstances beyond the control of the Kansas Lottery, the executive director of the Kansas Lottery reasonably determines that changes need to be made to the dates of the drawing(s) or the drawing procedure, any changes will be posted on the Kansas Lottery's website, www.kslottery.com prior to said changes becoming effective.

(m) The winner of the grand prize and winners of the secondary prizes in the promotional event will be determined as follows:

(1) The 10 finalists of the promotional event or their proxies, will present themselves to Kansas Lottery officials at Bill Snyder Family Stadium;

(2) The Kansas Lottery will present oversized identical mock up keys that are roughly two feet by eighteen inches in size. Hidden signage that is not identifiable until the reveal will be displayed inside each key. The signage inside nine of the keys will indicate a cash value for one of the secondary prizes. The signage inside one of the keys will indicate a vehicle for the grand prize;

(3) In the same order as their names were drawn during the preliminary drawings, the finalists or designated proxy shall come forward, one-by-one, and select a key of his or her choice but shall not at that time reveal the signage inside the key. After all 10 finalists and/or proxies have selected a key the finalists will be given a signal to simultaneously reveal their prizes. Each finalist shall receive the prizes described in (e) and (f) above according to the signage inside the key that they selected.

(n) Following the determination of the grand prize winner and secondary prize winners, a claim form will be mailed or given to each finalist of the respective prize won. Each finalist shall then have until 5:00 p.m. on the tenth day following the presentation or mailing of a claim form to the finalist, whichever is applicable, to present the fully-executed claim form to lottery headquarters. If the tenth day following the mailing of a claim form to the finalist falls on a weekend or holiday, the deadline shall be extended to the next business day. If the grand prize winner cannot be located or is declared ineligible, or fails to timely present a fully-executed claim form to lottery headquarters, the Kansas Lottery will conduct a random drawing at Lottery headquarters on a date and time determined by the executive director of the Kansas Lottery for the purpose of determining an alternate grand prize

winner. The names of the remaining finalists in the grand prize giveaway event shall be placed into the random drawing to determine an alternate grand prize winner. The drawing shall place the remaining finalists in order from number 1 through 9 to be used in the order drawn as alternates for the grand prize. The alternate grand prize winner shall retain their secondary prize awarded as a finalist. An alternate grand prize winner shall have until 5:00 p.m. on the tenth day following mailing of a claim form to the alternate grand prize winner to present the fully-executed claim form to Lottery headquarters. If the tenth day following the mailing of a claim form to an alternate grand prize winner falls on a weekend or holiday, the deadline shall be extended to the next business day. If an alternate grand prize winner cannot be located or is declared ineligible, or fails to timely present a fully-executed claim form to Lottery headquarters, the grand prize will be awarded to the next finalist selected in the drawing for alternate grand prize winners. The alternate grand prize winner process shall be repeated until the grand prize is properly claimed or until such time as no alternate finalists remain, whichever occurs first.

(o) A finalist may complete a form provided by the Kansas Lottery to designate a proxy to participate in the grand prize giveaway event on behalf of the finalist. If a finalist uses a proxy during the grand prize giveaway event, the finalist in the grand prize giveaway event shall be the winner of the prize selected by his or her proxy. Any person acting as proxy for a finalist shall not be entitled to any prize.

(p) Prior to the grand prize giveaway event, Kansas Lottery security personnel shall record and certify in writing to the event manager the name of any individual serving as proxy on a finalist's behalf at the grand prize giveaway event. Prior to the grand prize giveaway event the event manager shall confirm that the finalist's name correctly corresponds with the designated proxy individual's name.

(q) Upon completion of the drawings and grand prize giveaway event, the security official and the event manager shall issue a report to the executive director, certifying whether the names of the prize winners are correct, and whether to the best of their knowledge the procedures required by these rules were followed in selecting the prize winners.

(r) Rules applicable to this promotion are contained in K.A.R. 111-19-77 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-4-15-20, Feb. 12, 2020.)

111-19-78. Galaga Cash Drawings. (a) The Kansas lottery may conduct two drawings entitled "Galaga Cash Drawings" awarding a cash and prize package to the five (5) players selected in each drawing as the winners. The Kansas lottery will accept entries into the drawings beginning at 12:01 a.m. the day Kansas lottery "Galaga Cash" instant tickets are first offered for sale to the general public. Entry deadline for the first drawing will be 11:59 p.m., September 21, 2020, and the announcement of five (5) winners will be on September 25, 2020. Entry deadline for the second drawing will be 11:59 p.m., November 30, 2020, and the announcement of five (5) winners.

(continued)

ners will be on December 4, 2020.

(b) The specific ticket eligible for entry into the drawings shall be a non-winning \$5 Kansas lottery instant game ticket from "Galaga Cash," game number 169.

(c) A player shall enter the drawings through the Kansas Lottery PlayOn program available at www.kslottery.com. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Galaga Cash Drawings." The player may enter the required data from the entry ticket manually for entry into the drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry into the drawings.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. The first five (5) players selected in each drawing will receive:

- (1) a Galaga gaming console (valued at \$300); and
- (2) \$1,000 cash.

(e) There is no limit on the number of non-winning tickets a player may enter. If a player is selected as a drawing winner in the first drawing, the drawing winner shall not be eligible to be selected as a winner in the second drawing.

(f) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except in this promotion the 10-day deadline for the winners to return their claim forms shall commence with the date of the announcement of winners.

(g) Any entries not selected in the first drawing shall remain eligible to be selected in the second drawing.

(h) Prize fulfillment of the gaming console will be handled by Pollard Banknote, Ltd.

(i) Prizes are not exchangeable for cash. The Kansas Lottery retains the right to substitute an alternate prize of approximate equal value.

(j) By entering the drawings, entrant agrees to PlayOn terms and conditions.

(k) Winners are responsible for state and federal income taxes.

(l) Rules applicable to this promotion are contained in K.A.R. 111-19-78 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-4-15-20, Feb. 12, 2020.)

111-19-79. Heartland Stampede Drawings. (a) The Kansas lottery may conduct three (3) drawings entitled "Heartland Stampede Drawings" in each of which 15 Kansas lottery players will win prize packages for the 2020 Heartland Stampede in Topeka, Kansas. The Kansas lottery will accept entries into the drawings beginning at 12:01 a.m. on April 1, 2020. Entry deadline for the drawings will be at 11:59 p.m. on May 17, 2020. A drawing will be conducted for each concert day of the Heartland Stampede, June 25 through June 27, 2020. The drawings will be conducted sometime after entry into the drawings has closed but before noon on May 21, 2020, at which time the winners will be announced.

(b) Only registered Kansas Lottery PlayOn ("PlayOn")

members may enter the drawings. PlayOn members must enter themselves into the drawings according to the terms and conditions of PlayOn. Entries shall not be accepted that are submitted by any method other than through PlayOn.

(c) A total of 422 player loyalty club points are required for a PlayOn member to enter once in a drawing. A player may enter the drawings as many times as his or her points allow, but may win only one prize package in each concert day drawing. At the time of each entry, the player will select for which concert day they are entering to win a prize package.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. For each concert day drawing, the Kansas lottery shall award the first player selected a "tier one" prize package, the next four (4) players selected "tier two" prize packages, the next five (5) players selected "tier three" prize packages, and the final five (5) players selected "tier four" prize packages. The prize packages shall consist of the following:

(1) Tier one winners will each receive a VIP Experience package for two persons, which shall include: VIP reserved seating tickets for the concert on Thursday June 25, 2020, Friday June 26, 2020 or Saturday June 27, 2020 at the Heartland Stampede; parking; access to the VIP hospitality area; meals and beverages; and access to meet the featured artist performing at that day's concert. Depending upon the day of the concert and the artist to whom access is granted, each tier one prize package has a value of \$1,525-\$3,215. State and federal mandatory income withholding taxes shall be paid by the Kansas lottery for all tier one prizes.

(2) Tier two winners will each receive a VIP Experience package for two persons, which shall include: VIP reserved seating tickets for the concert on Thursday June 25, 2020, Friday June 26, 2020 or Saturday June 27, 2020 at the Heartland Stampede; parking; access to the VIP hospitality area; meals and beverages; and access to meet an artist performing at that day's concert, other than the featured artist. The Lottery shall select the artist to whom access is granted. Depending upon the day of the concert and the artist to whom access is granted, each tier two prize package has a value of \$333-\$583.

(3) Tier three winners will each receive a VIP Experience package for two persons, which shall include: VIP reserved seating tickets for the concert on Thursday June 25, 2020, Friday June 26, 2020 or Saturday June 27, 2020 at the Heartland Stampede; parking; access to the VIP hospitality area; meals and beverages; and passes to a special seating area known as the "Pozer Deck" for one artist's performance at that day's concert as approved by the Kansas lottery. Depending upon the artist's performance at which the special seating is provided, each tier three prize package has a value of \$333 to \$583.

(4) Tier four winners will each receive two general admission tickets for the concert on Thursday June 25, 2020, Friday June 26, 2020 or Saturday June 27, 2020. Each tier four prize package is valued at \$158.

(e) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except as follows: in this promotion the 10-day

deadline for the winners to return their claim forms shall be 10 business days and commence with the date of the announcement of the winners; and, in this promotion five additional alternate winners shall be selected for each of the three concert day drawings. The Kansas lottery is not responsible for electronic malfunction or player error.

(f) In the event any prize awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided.

(g) By entering the drawings, entrant agrees to PlayOn terms and conditions.

(h) Rules applicable to this online event drawing are contained in K.A.R. 111-19-79 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-4-15-20, Feb. 12, 2020.)

Stephen Durrell
Executive Director

Doc. No. 048091

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations and the volume and page number of the *Kansas Register* issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the *Kansas Administrative Regulations* and the 2019 Supplement of the *Kansas Administrative Regulations*. Regulations can also be found at http://www.sos.ks.gov/pubs/pubs_kar.aspx.

AGENCY 4: DEPARTMENT OF AGRICULTURE

Reg. No.	Action	Register
4-34-1	New	V. 38, p. 57
4-34-2	New	V. 38, p. 58
4-34-3	New	V. 38, p. 58
4-34-4	New	V. 38, p. 59
4-34-5	New	V. 38, p. 59
4-34-6	New	V. 38, p. 61
4-34-7	New	V. 38, p. 62
4-34-8	New	V. 38, p. 62
4-34-9	New	V. 38, p. 63
4-34-10	New	V. 38, p. 64
4-34-11	New	V. 38, p. 64
4-34-12	New	V. 38, p. 64
4-34-13	New	V. 38, p. 65
4-34-14	New	V. 38, p. 65
4-34-15	New	V. 38, p. 66
4-34-16	New	V. 38, p. 66
4-34-17	New	V. 38, p. 67
4-34-18	New	V. 38, p. 67
4-34-19	New	V. 38, p. 68
4-34-20	New	V. 38, p. 68
4-34-21	New	V. 38, p. 70

AGENCY 5: DEPARTMENT OF AGRICULTURE—DIVISION OF WATER RESOURCES

Reg. No.	Action	Register
5-21-7	Revoked	V. 38, p. 1296
5-25-2	Amended	V. 38, p. 1296
5-25-4	Amended	V. 38, p. 1296
5-25-22	New	V. 38, p. 1297

AGENCY 7: SECRETARY OF STATE

Reg. No.	Action	Register
7-47-1	New (T)	V. 38, p. 855
7-47-1	New	V. 38, p. 1113

AGENCY 9: DEPARTMENT OF AGRICULTURE—DIVISION OF ANIMAL HEALTH

Reg. No.	Action	Register
9-18-6	Amended	V. 38, p. 55
9-18-9	Amended	V. 38, p. 56
9-18-23	New	V. 38, p. 1407
9-18-28	Amended	V. 38, p. 56
9-23-1	Revoked	V. 38, p. 1408
9-23-2	Revoked	V. 38, p. 1408
9-23-3	Revoked	V. 38, p. 1408

AGENCY 10: KANSAS BUREAU OF INVESTIGATION

Reg. No.	Action	Register
10-22-1	Amended	V. 38, p. 1089
10-23-1	New	V. 38, p. 773
10-23-2	New	V. 38, p. 773
10-23-3	New	V. 38, p. 773
10-23-4	New	V. 38, p. 773
10-23-5	New	V. 38, p. 773
10-23-6	New	V. 38, p. 773

AGENCY 14: DEPARTMENT OF REVENUE—DIVISION OF ALCOHOLIC BEVERAGE CONTROL

Reg. No.	Action	Register
14-6-4	Revoked (T)	V. 38, p. 856
14-6-4	Revoked	V. 38, p. 1203

AGENCY 16: ATTORNEY GENERAL

Reg. No.	Action	Register
16-18-1	New	V. 38, p. 856
16-18-2	New	V. 38, p. 856
16-18-3	New	V. 38, p. 857
16-19-1	New	V. 39, p. 208
16-19-2	New	V. 39, p. 208
16-19-3	New	V. 39, p. 208
16-20-1	New (T)	V. 39, p. 462

AGENCY 17: OFFICE OF THE STATE BANK COMMISSIONER

Reg. No.	Action	Register
17-23-9	Revoked	V. 39, p. 146

AGENCY 28: DEPARTMENT OF HEALTH AND ENVIRONMENT

Reg. No.	Action	Register
28-1-20	Amended	V. 38, p. 924
28-4-133	New	V. 38, p. 1434
28-15-52	Amended	V. 39, p. 171
28-15-53	Amended	V. 39, p. 171
28-24-1	Amended	V. 39, p. 336
28-24-2	Amended	V. 39, p. 336
28-24-3	Amended	V. 39, p. 336
28-24-4	Amended	V. 39, p. 337
28-24-5	Amended	V. 39, p. 337
28-24-6	Amended	V. 39, p. 337

28-24-7	Amended	V. 39, p. 337
28-24-8	Amended	V. 39, p. 337
28-24-9	Amended	V. 39, p. 337
28-24-10	Amended	V. 39, p. 338
28-24-11	Amended	V. 39, p. 338
28-24-12	Amended	V. 39, p. 338
28-24-13	Amended	V. 39, p. 339
28-24-14	Amended	V. 39, p. 339
28-35-146a	Amended	V. 38, p. 130
28-35-147a	Amended	V. 38, p. 130
28-55-1	Revoked	V. 38, p. 1024
28-55-2	Revoked	V. 38, p. 1024
28-55-3	Revoked	V. 38, p. 1025
28-55-4	Revoked	V. 38, p. 1025
28-55-5	Revoked	V. 38, p. 1025

AGENCY 30: KANSAS DEPARTMENT FOR CHILDREN AND FAMILIES

Reg. No.	Action	Register
30-4-34	Amended	V. 38, p. 403
30-4-35	Amended	V. 38, p. 403
30-4-36	Amended	V. 38, p. 403
30-4-40	Amended	V. 38, p. 403
30-4-41	Amended	V. 38, p. 404
30-4-50	Amended	V. 38, p. 404
30-4-51	Amended	V. 38, p. 405
30-4-54	Amended	V. 38, p. 405
30-4-64	Amended	V. 38, p. 406
30-4-90	Revoked	V. 38, p. 407
30-4-98	Amended	V. 38, p. 407
30-4-100	Amended	V. 38, p. 407
30-4-107	Amended	V. 38, p. 408
30-4-109	Amended	V. 38, p. 408
30-4-111	Amended	V. 38, p. 409
30-4-113	Amended	V. 38, p. 409
30-4-120	Revoked	V. 38, p. 410
30-4-130	Amended	V. 38, p. 410
30-4-140	Amended	V. 38, p. 412
30-46-10	Amended	V. 38, p. 128
30-46-13	Amended	V. 38, p. 128
30-46-15	Amended	V. 38, p. 129
30-46-17	Amended	V. 38, p. 129

AGENCY 47: DEPARTMENT OF HEALTH AND ENVIRONMENT—MINED-LAND CONSERVATION AND RECLAMATION

Reg. No.	Action	Register
47-2-75	Amended	V. 38, p. 84
47-3-1	Amended	V. 38, p. 86
47-3-2	Amended	V. 38, p. 86
47-3-42	Amended	V. 38, p. 86
47-5-5a	Amended	V. 38, p. 90
47-6-1	Amended	V. 38, p. 93
47-6-2	Amended	V. 38, p. 93
47-6-3	Amended	V. 38, p. 94
47-6-4	Amended	V. 38, p. 94
47-6-6	Amended	V. 38, p. 94
47-6-8	Amended	V. 38, p. 94

47-6-9	Amended	V. 38, p. 95
47-6-10	Amended	V. 38, p. 95
47-6-11	Amended	V. 38, p. 95
47-7-2	Amended	V. 38, p. 96
47-8-9	Amended	V. 38, p. 96
47-9-1	Amended	V. 38, p. 97
47-9-4	Amended	V. 38, p. 103
47-10-1	Amended	V. 38, p. 103
47-11-8	Amended	V. 38, p. 105
47-12-4	Amended	V. 38, p. 105
47-13-4	Amended	V. 38, p. 106
47-14-7	Amended	V. 38, p. 107
47-15-1a	Amended	V. 38, p. 107
47-16-6	Amended	V. 38, p. 108
47-16-9	Amended	V. 38, p. 108
47-16-10	Amended	V. 38, p. 108
47-16-12	Amended	V. 38, p. 109
47-16-13	New	V. 38, p. 109

AGENCY 51: DEPARTMENT OF LABOR—DIVISION OF WORKERS COMPENSATION

Reg. No.	Action	Register
51-9-7	Amended	V. 38, p. 231
51-9-17	Amended	V. 38, p. 212

AGENCY 60: BOARD OF NURSING

Reg. No.	Action	Register
60-4-101	Amended	V. 38, p. 545
60-16-101	Amended	V. 39, p. 12
60-16-103	Amended	V. 39, p. 12
60-16-104	Amended	V. 39, p. 13

AGENCY 63: BOARD OF MORTUARY ARTS

Reg. No.	Action	Register
63-5-3	New	V. 38, p. 183

AGENCY 66: BOARD OF TECHNICAL PROFESSIONS

Reg. No.	Action	Register
66-7-4	New	V. 38, p. 989
66-9-7	Amended	V. 38, p. 622
66-10-1	Amended	V. 38, p. 622
66-10-3	Amended	V. 38, p. 622
66-15-1	New	V. 39, p. 14

AGENCY 67: BOARD OF EXAMINERS IN FITTING AND DISPENSING OF HEARING INSTRUMENTS

Reg. No.	Action	Register
67-1-8	New	V. 38, p. 1489
67-2-4	Amended	V. 38, p. 1489
67-5-5	Amended	V. 38, p. 1490

AGENCY 68: BOARD OF PHARMACY

Reg. No.	Action	Register
68-2-5	Amended	V. 39, p. 105
68-2-10	Amended	V. 38, p. 1463
68-5-16	Amended	V. 39, p. 106
68-7-15	Amended	V. 38, p. 1337
68-11-1	Amended	V. 38, p. 541
68-11-2	Amended	V. 38, p. 541
68-14-1	Revoked	V. 38, p. 1463
68-14-2	Amended	V. 38, p. 1463
68-14-3	Revoked	V. 38, p. 1464
68-14-4	Amended	V. 38, p. 1464
68-14-5	Amended	V. 38, p. 1464
68-14-7	Amended	V. 38, p. 1464
68-14-7a	New	V. 38, p. 1466
68-14-7b	New	V. 38, p. 1468
68-19-1	Amended	V. 38, p. 1337
68-21-6	Amended	V. 38, p. 1338

AGENCY 69: BOARD OF COSMETOLOGY

Reg. No.	Action	Register
69-1-10	New	V. 38, p. 84

AGENCY 71: BOARD OF REGENTS

Reg. No.	Action	Register
71-2-2	Amended	V. 38, p. 1405
71-2-3	Revoked	V. 38, p. 1406
71-5-11	Amended	V. 38, p. 1406
71-8-8	Amended	V. 38, p. 1407

AGENCY 74: BOARD OF ACCOUNTANCY

Reg. No.	Action	Register
74-1-3	Amended	V. 38, p. 1337

AGENCY 82: STATE CORPORATION COMMISSION

Reg. No.	Action	Register
82-4-1	Amended	V. 38, p. 875
82-4-2a	Amended	V. 38, p. 876
82-4-3b	Amended	V. 38, p. 876
82-4-3c	Amended	V. 38, p. 877
82-4-3d	Amended	V. 38, p. 878
82-4-3f	Amended	V. 38, p. 879
82-4-3g	Amended	V. 38, p. 882
82-4-3h	Amended	V. 38, p. 885
82-4-3i	Amended	V. 38, p. 886
82-4-3j	Amended	V. 38, p. 888
82-4-3k	Amended	V. 38, p. 888
82-4-3l	Amended	V. 38, p. 889
82-4-3m	Amended	V. 38, p. 891
82-4-3n	Amended	V. 38, p. 891
82-4-3o	Amended	V. 38, p. 892
82-4-20	Amended	V. 38, p. 892
82-4-21	Amended	V. 38, p. 893
82-4-22	Amended	V. 38, p. 893
82-4-24a	Amended	V. 38, p. 893
82-4-27	Amended	V. 38, p. 893
82-4-30a	Amended	V. 38, p. 894
82-4-40	Revoked	V. 38, p. 894
82-4-42	Amended	V. 38, p. 894
82-4-44	Revoked	V. 38, p. 894
82-4-46	Revoked	V. 38, p. 894
82-4-48	Amended	V. 38, p. 894
82-4-48a	Revoked	V. 38, p. 895
82-4-50	Amended	V. 38, p. 895
82-4-51	Amended	V. 38, p. 895
82-4-53	Amended	V. 38, p. 895
82-4-56a	Amended	V. 38, p. 895
82-4-57	Amended	V. 38, p. 896
82-4-58d	Amended	V. 38, p. 896
82-4-63	Amended	V. 38, p. 896
82-4-65	Amended	V. 38, p. 896
82-4-66	Revoked	V. 38, p. 897
82-4-68	Amended	V. 38, p. 897
82-4-85	Amended	V. 38, p. 897
82-4-86	Revoked	V. 38, p. 898

AGENCY 86: REAL ESTATE COMMISSION

Reg. No.	Action	Register
86-1-10	Amended	V. 39, p. 54
86-1-11	Amended (T)	V. 38, p. 855
86-1-11	Amended	V. 39, p. 55
86-1-12	Amended	V. 39, p. 56
86-1-13	Revoked	V. 39, p. 56
86-1-16	Revoked	V. 39, p. 56
86-1-17	Amended	V. 39, p. 56
86-1-18	Revoked	V. 39, p. 56
86-3-6a	Revoked	V. 39, p. 56
86-3-7	Amended	V. 39, p. 56
86-3-20	Revoked	V. 39, p. 57

AGENCY 88: BOARD OF REGENTS

Reg. No.	Action	Register
88-28-6	Amended	V. 38, p. 1435

AGENCY 92: DEPARTMENT OF REVENUE

Reg. No.	Action	Register
92-19-56	Revoked	V. 38, p. 1470
92-56-2	Amended	V. 38, p. 1196

AGENCY 100: BOARD OF HEALING ARTS

Reg. No.	Action	Register
100-11-1	Amended	V. 38, p. 344
100-28a-14	Amended	V. 38, p. 184
100-28b-1	New	V. 38, p. 1490
100-28b-5	New	V. 38, p. 1491
100-28b-15	New	V. 38, p. 1491
100-28b-16	New	V. 38, p. 1491
100-28b-17	New	V. 38, p. 1491
100-28b-18	New	V. 38, p. 1491
100-29-4	Amended	V. 38, p. 1492
100-29-9	Amended	V. 38, p. 1492
100-69-7	Amended	V. 38, p. 1493
100-69-10	Amended	V. 38, p. 1494
100-76-2	Amended	V. 38, p. 184
100-77-1	New (T)	V. 38, p. 8
100-77-1	New	V. 38, p. 447
100-77-2	New (T)	V. 38, p. 8
100-77-2	New	V. 38, p. 448
100-77-3	New (T)	V. 38, p. 8
100-77-3	New	V. 38, p. 448
100-78-1	New (T)	V. 39, p. 250
100-78-2	New (T)	V. 39, p. 250

AGENCY 102: BEHAVIORAL SCIENCES REGULATORY BOARD

Reg. No.	Action	Register
102-1-13	Amended	V. 38, p. 185
102-1-18	Amended	V. 38, p. 212
102-2-3	Amended	V. 38, p. 185
102-2-14	Amended	V. 38, p. 212
102-3-2	Amended	V. 38, p. 185
102-3-15	Amended	V. 38, p. 212
102-4-2	Amended	V. 38, p. 186
102-4-15	Amended	V. 38, p. 212
102-5-2	Amended	V. 38, p. 186
102-5-14	Amended	V. 38, p. 212
102-7-2	Amended	V. 38, p. 186
102-7-12	Amended	V. 38, p. 212

AGENCY 105: BOARD OF INDIGENTS' DEFENSE SERVICES

Reg. No.	Action	Register
105-5-2	Amended	V. 39, p. 252
105-5-3	Amended	V. 39, p. 252
105-5-6	Amended	V. 39, p. 252
105-5-7	Amended	V. 39, p. 252
105-5-8	Amended	V. 39, p. 252
105-5-11	Revoked	V. 38, p. 368

AGENCY 109: BOARD OF EMERGENCY MEDICAL SERVICES

Reg. No.	Action	Register
109-3-3	Amended	V. 39, p. 30
109-3-4	Amended	V. 39, p. 31
109-5-1	Amended	V. 38, p. 153
109-5-1a	Amended	V. 39, p.32
109-8-1	Amended	V. 38, p. 153
109-8-2	Amended	V. 38, p. 154
109-11-1a	Amended	V. 39, p.32
109-11-6a	Amended	V. 38, p. 154

AGENCY 111: KANSAS LOTTERY

A complete index listing all regulations filed by the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No.

52, December 28, 2000 *Kansas Register*. A list of regulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 *Kansas Register*. A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 *Kansas Register*. A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 *Kansas Register*. A list of regulations filed from 2008 through November 2009 can be found in the Vol. 28, No. 53, December 31, 2009 *Kansas Register*. A list of regulations filed from December 1, 2009, through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 *Kansas Register*. A list of regulations filed from December 22, 2011, through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 *Kansas Register*. A list of regulations filed from November 7, 2013, through December 31, 2015, can be found in the Vol. 34, No. 53, December 31, 2015 *Kansas Register*. A list of regulations filed from 2016 through 2017, can be found in the Vol. 36, No. 52, December 28, 2017 *Kansas Register*. A list of regulations filed from 2018 through 2019, can be found in the Vol. 38, No. 52, December 26, 2019 *Kansas Register*.

Reg. No.	Action	Register
111-4-3595	New	V. 39, p. 57
111-4-3596	New	V. 39, p. 58
111-4-3597	New	V. 39, p. 59
111-4-3598	New	V. 39, p. 60
111-4-3599	New	V. 39, p. 61
111-4-3600	New	V. 39, p. 63

111-4-3601	New	V. 39, p. 532
111-4-3602	New	V. 39, p. 533
111-19-72	Amended	V. 39, p. 64
111-19-73	New	V. 39, p. 64
111-19-74	New	V. 39, p. 65
111-19-75	New	V. 39, p. 65
111-19-76	New	V. 39, p. 74
111-301-4	Amended	V. 39, p. 534
111-301-5	Amended	V. 39, p. 534
111-301-6	Amended	V. 39, p. 535
111-301-43	Amended	V. 39, p. 537
111-301-60	Amended	V. 39, p. 66
111-301-62	Amended	V. 39, p. 67
111-301-64	Amended	V. 39, p. 538
111-301-66	Amended	V. 39, p. 538
111-302-4	Amended	V. 39, p. 68
111-305-5	Amended	V. 39, p. 539
111-305-6	Amended	V. 39, p. 539
111-401-253	New	V. 39, p. 69
111-401-254	New	V. 39, p. 69
111-401-255	New	V. 39, p. 71
111-501-71	Amended	V. 39, p. 71
111-501-81	Amended	V. 39, p. 71
111-501-149	New	V. 39, p. 72
111-501-150	New	V. 39, p. 72
111-501-151	New	V. 39, p. 73
111-501-152	New	V. 39, p. 73
111-501-153	New	V. 39, p. 74
111-601-6	Amended	V. 39, p. 540

AGENCY 112: KANSAS RACING AND GAMING COMMISSION

Reg. No.	Action	Register
112-105-1	Amended	V. 39, p. 251

AGENCY 115: DEPARTMENT OF WILDLIFE, PARKS AND TOURISM

Reg. No.	Action	Register
115-2-1	Amended	V. 38, p. 1089
115-2-3	Amended	V. 38, p. 370
115-2-4	Amended	V. 38, p. 371
115-2-7	Revoked	V. 38, p. 1091
115-3-2	Amended	V. 38, p. 371
115-4-2	Amended	V. 38, p. 1408
115-4-4	Amended	V. 38, p. 371
115-4-11	Amended	V. 38, p. 372
115-5-1	Amended	V. 38, p. 541
115-5-2	Amended	V. 38, p. 542
115-5-3	Amended	V. 38, p. 1091
115-5-3a	New	V. 38, p. 1091
115-5-4	Amended	V. 38, p. 542
115-6-1	Amended	V. 38, p. 543
115-7-1	Amended	V. 38, p. 1409
115-7-3	Amended	V. 38, p. 1410
115-7-4	Amended	V. 38, p. 1410
115-7-10	Amended	V. 38, p. 1411
115-8-1	Amended	V. 38, p. 543
115-8-13a	New	V. 38, p. 1169
115-9-5	Amended	V. 38, p. 375
115-9-9	Amended	V. 38, p. 1411
115-11-2	Amended	V. 38, p. 127
115-13-4	Amended	V. 38, p. 544
115-15-1	Amended	V. 38, p. 1412
115-15-2	Amended	V. 38, p. 1413
115-18-6a	Amended	V. 38, p. 1414
115-20-7	Amended	V. 38, p. 545

AGENCY 128: DEPARTMENT OF COMMERCE – KANSAS ATHLETIC COMMISSION

Reg. No.	Action	Register
128-5-1	Amended	V. 38, p. 1197
128-6-8	New	V. 38, p. 1198

Kansas Register
Secretary of State
1st Floor, Memorial Hall
120 SW 10th Ave.
Topeka, KS 66612-1594
